Math 2401
Exam 1

I commit to uphold the ideals of honor and integrity by refusing to betray the trust bestowed
upon me as a member of the Georgia Tech community. By signing my name below I pledge
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that I have neither given nor received help on this exam.
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1. (5 pts) Determine the line through the point p = (1,2, 3) that is parallel to the vector
v =(~3,0,7).
)f

2. (5 pts) Compute the angle between the vectors v; = (2,1,0) and v = (1,2,—1). You
may leave your answer un-simplifed.
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3. (10 pts) Let v; = (2,4,5), v, = (1,5,7) and v3 = (-1, 6, 8).
(a) (3 pts) Compute u; = v, — v3 and uy = vy — vs;
(b) (3 pts) Compute u; X uy;

(c) (4 pts) Determine the plane through the points vy, ve, and v3.
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4. (5 pts) Evaluate the integral: v ' f:,— eﬁVL CO/’Y)D’/#
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5. (5 pts) If r(t) = (e, 2 cos(3t), 2sin(3t)) compute the velocity and acceleration vectors.
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6. (10 pts) Find the length of the curve

2v2
r(t) = (t cost,tsint, —\3[-—75%>

from (0,0,0) to (—,0, 2¢2x#).
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7. (10 pts) Find the unit tangent T(¢) and the principal normal IN(t) of the function

r(t) = (e’ cost, e sint, 2) .
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